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Q: Looking at the image above, what behavioural changes do you think this injury had to Gage? 
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Contrecoup 

Coup 

An explosion causes two types of TBI. Can you think 
of what the two may be? 
 
1.  
 
 
 
 
 
 
 
2. 
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Neurotransmitters are a class of chemicals 
that carry messages between neurons. A 
sending neuron releases neurotransmitter, 
which activates the receiving neuron. The 
receiving neuron becomes active and sends 
the message along. 
 
There are a number of neurotransmitters 
that have been identified; e.g. acetylcholine, 
dopamine and serotonin. An imbalance of 
neurotransmitter can be seen in the 
implication of several diseases such as 
Alzheimer’s disease and Parkinson’s disease. 
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A hypothesis is a proposed explanation made on the basis of limited evidence as a starting 
point further investigation.  
 
e.g. If __________(I do this)____________, then ____________(this)_____________ will 
happen. 
 
Scientists base their work from a hypothesis that branches into many smaller ideas. These 
ideas form the experiments that they do in order to answer the question.  
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Free resources from www.mathsphere.co.uk 
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